Fs s%2 eSS GANZIDE SMETET
1 YEE R 360 Fkkkkkkrkkk**kD 19 76 E
2 Yo 41 Qkskorskskorkskokokkk ()52 90 s
3 5 o 51 3kskskorkskorkkokokk*k 1 3 70 s
4 ETE 460%kFkxkkkkkkkk %784 50 E
5 = 142%kFr%kk%kkk Kk %01 8 77 E
6 PR HE A50kkkkkdddokokkk 05 1 74 YT
7 Y=L 230%krkkkkkkokkkk 71 4 48 E
8 A F] 51 3kkkrkkokdorkrk*k4)7 86 E
9 XS BB 51 Q%kxkkkokkkkkk] 34 45 s
10 THIE 370%kpkkkkrkkokdk k5D X 62 E
11 E 341 kkKkkkdkKF KK G DX 74 R
12 Kt ek 1 30%kkrkskokokkokorkk 4] § 61 TiiE:
13 FIB A 420 Fxkkkkkkkk%k 370 78 G
14 =) 51 3kkkkkkkkkokrkkg 14 55 R
15 B~ 360%kkkkkkdkkFkk%315 50 R
16 W 4l 420%kkxkkkkkkkkk 6D 7 65 G
17 e 321 %kkpkkkdkkdkk K 45X 76 R
18 B 230%Fkkkkkkdkkdk kg1 D 63 B
19 VAR 522%kkxkkkkkkkkk 615 86 G
20 TUHE N 141 kxfkrdkkdokk4k() 62 68 R
21 A=K 341 %kkpkk Rk KFKKG 39 57 R
22 815 13 1kpkkkkrkkokdkkk(019 67 G
23 2= 342%kkkkkdkKHk% ] 20 73 R
24 A ek 522%kkkkkkkkokkkkk7 10 70 WiiE
25 S 152%krkkdkdok Aok ¥k 309 60 B
26 A= 5 340%kkkkkkrkkkd k()3 82 WEiE:
27 25 I 370%kkpkkpdk KKK (TS 50 HE
28 2SS0 371 %kkkkkkrkkk*%Q )3 83 WiE:
29 X 61 2%k kxkrkkkdk k()66 74 HiE
30 Xl S B2 220%kkkFokkFokKFkKk 4 | 76 PR
31 MESA 362%kkkkkkkkkk* k32D 78 HiE
32 XEFF 140Q%0kkxkrkkk*k Kk 6D 6 50 HiE
33 X% 150%Fkkkkkkkekdkok*k ] 24 74 PR
34 XY 620k rpdkkpodokkk*k545 64 i
35 X E B54%FKkKFkKFkKFKKQ b4 45 PR
36 X7 372%kkkkkkkkkk* K9 1Q 60 HiE
37 LE 522%kkxkkkkkkkk* 633 60 HiE
38 B 41 2Fkpkkpdokkokkkk) 1 8 74 R
39 | 640 Kkkkkkrkkkk%D32 75 WEiE:
40 TR 370%kkkkkkrkkkd k727 68 HiE
41 D BH 52 ik 360krpddkkddkk**4048 60 ik
42 AR 41 Pksskokkskokkdokkk5 ) X 50 E
43 jniyes 320%kkkkkkkkkkk* 446 60 E
44 (EREi) o1 0kkFpbkkpdkk* %016 60 ik
45 I 140%Kx%k%kkkkkkk%k 73X 63 E
46 e 41 QFkxkokkdokkdkok k() 1 7 57 E
47 il e 41 QFkkkskskokkokkokk k()28 75 HiiE
48 i 330%kkkkkkRkkk%K() ] 6 67 E
49 PR 11 Q*kkkkkokokskkkk*k 277 63 B




50 AN 420k kbR 69 55 Yy
51 N e 342%kkdkdokdokRkK5 1 | 55 Yy
52 F K HE 370kkpdkokkdokokokk4Q 1 4 75 HiiE
53 AR 532 pkkkkcdokokokkokk()29 46 HiiE
54 FEE 21 Qkkskkkkokokkkkk*k(02 6 75 Yy
55 FikH 420k dokokkRAk ) 6 X 68 HiiE
56 B 140%¥FkkkkkAkk k848 66 i
57 F i 21 Qtkotokictokokokkokk() 1 7 88 HiiE
58 FiE 370kkpkkkkookokkdkD 1 3 68 HiiE
59 T 370k kpkkkkokokokkk5 38 84 HiiE
60 A 130%kkktodookkdokokk8 34 80 HiiE
61 2 U\ﬂ: 51 Qkoktokstokaiokokokokk4 2 X 45 Yy
62 RTE 1523 kskkdokdokdokdk 6D 8 52 Y
63 S 350%kskkkokdokdokkkK 5 5 60 YEiE
64 i 41 Qkokdokstokaickorkok k541 77 YEiE
65 o sE 372%rkrkokdokdokokokk 77 1 85 YEiE
66 T ek A 142%Fkxkxkk4kkk k415 77 ER
67 I ER 220%kpkpcdkdoRRK*A2 6 84 Hiih
68 159 370%kkkokokdokkkk 31 5 74 YEiE
69 VxRS 330%kkkkokdokdokkokk g 1 5 74 YEiE
70 EER 11 Oskrsorsorsfoksdokdok() 2 X 72 YEiE
71 [~ 61 OFktkkrokkkorkdkk 325 57 i
72 e 231 kkkokkokickokdkokk527 75 YEiE
73 1 % 5 341RRkkkckkkkk k049 90 Hiih
74 e K 1523 kskkdokdokdokdk 672 74 YEiE
75 TS 141 %kkkkokdokdokdok() G 1 85 YEiE
76 AT 130k kkpddokkokkk k%91 ) 50 YiiE
77 KA 1 52k kK4 4Fdokokkk K52 | 60 YiyE
78 K e 7 2RKKKKKKKKKKKKGD 1 51 YiyE
79 PN 130%kkkkdokokkdokokok (044 82 HEiE
80 KA 342k kKKKKKKKKKKK] 42 65 YiyE
81 XN 152%kkkkdokkokkkk*(1 6 68 i
82 FXE R 370%kkrkokokdokkkK5 1 Q 66 Wi
83 X5 3L 41 QxFfkokkkfokokkdkk54 ) 63 i
84 oY=k 2 150%kkkkkkkkkkk*kG1 4 45 Wi
85 FAE 21 0krkrskordokdokxokxQ 1 88 i
86 T 142%xHkrdkkAkRAKG4X 69 HiiE
87 IR % AAQFFFFRRRRRHHXG1 0 78 YiyE
88 H A= 41 1xkkkkrkokkkkkk (30 56 HEiE
89 g 1 30%kkkokokokokokokokokk 623 68 HiiE
90 JEH — g 360kkHdkkRFdkKA*D 1 64 HiiE
91 2 b6 7 51 3kkktokbokdorkrokkg 28 61 HiiE
92 A K 370%kkkdokkdokkdokk ()34 89 YiiE




